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1. Economic scarcity arises from
A) inefficient production.
B) exploration.
C) limited resources and limitless wants.
D) limited wants and limitless resources.
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2. At one point along a production possibilities frontier ( PPF) , 500 kilograms of rice and 1000
kilograms of bananas are produced. At another point along the same PPF, 300 kilograms of rice anc
1400 kilograms of bananas are produced. The opportunity cost of a kilogram of rice between these
points is
A) 7/5 of a kilogram of bananas.

B) 1/2 of a kilogram of bananas.
C) 5/7 of a kilogram of bananas.
D) 2 kilograms of bananas.

3. The “income effect” in the market for diamonds means that
A) diamonds are usually purchased by people with higher than average incomes.

B) a decrease in the price of a substitute product like gold will make diamond lover feel a little poorer than they were
before.

C) an increase in the price of diamond will reduce the total purchasing power of diamond lovers, making them able to
afford fewer diamonds.

D) an increase in the price of diamond will raise the relative price of diamond to gold, causing diamond lovers to buy
more gold and fewer diamonds.

4. The more substitutes available for a product,

A) the larger is its the income elasticity of demand.
B) the smaller is its income elasticity of demand.
C) the smaller is its price elasticity of demand.

D) the larger is its price elasticity of demand.
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. The government raises the sales tax on wines. As a result, the .
A) supply curve of wines shifts leftward.
B) supply curve of wines shifts rightward.
C) demand curve for wines becomes vertical.
D) demand curve for wines becomes horizontal.

6. At the utility maximizing equilibrium for two goods, X and Y, which of the following must be true?
A) The marginal utility per dollar spent on X will exceed the marginal utility per dollar spenton Y.
B) The marginal utility per dollar spent will be the same for each good.
C) The marginal utility will be the same for each good.
D) The total expenditure will be the same for each good.

7. The change in consumption that results from a change in the relative price of goods while staying on
the same indifference curve is the
A) income effect.
B) substitution effect,
C) indifference effect.
D) output effect.
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8. Assume all firms in a particular perfectly competitive industry are earning economic profits. This
will cause firms to ___ the industry, which will continue until
A) exit; economic losses occur. -

B) exit; economic profits are zero. { i’.
C) enter; economic profits are negative. e
D) enter; economic profits are zero. )
6
9. Market power measures the firm's ability to X
A) force consumers to pay higher prices. -3
B) resist union wage demands. B
C) raise its price without losing its sales. & 3
D) influence the price its competitors charge. T

10.A dominant strategy occurs when
A) one player has a strategy that yields the highest payoff independent of the other player's choice.
B) both players have a strategy that yields the highest payoff independent of the other's choice.
C) both players make the same choice.
D) the payoff to a strategy depends on the choice made by the other player.

11.The capital stock at the end of year is equal to
A) the amount of the capital at the beginning of the period plus net investment.
B) the amount of the capital at the beginning of the period minus net investment.
C) the amount of the capital at the beginning of the period plus depreciation,
D) the ratio of the amount of the capital at the beginning of the period to the amount of net investment.

12.The sum of frictional and structural unemployment is thought of as the
A) normal rate of unemployment.
B) natural rate of unemployment.
C) seasonal rate of unemployment.
D) cyclical rate of unemployment.

13. If aggregate output is greater than planned spending, then
A) actual investment equals planned investment.
B) unplanned inventory investment is zero.
C) unplanned inventory investment is positive.
D) unplanned inventory investment is negative.

14.A decrease in lump-sum tax will
A) make the consumption function steeper.
B) make the consumption function flatter.
C) make the consumption function nonlinear.
D) have no effect on the slope of the consumption function.
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5.Which of the following instruments is not used by the Central Bank to change the money supply
A) the discount rate.
B) income tax rate. -
C) open market operations.
D) the required reserve ratio.
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. Which of the following is NOT a part of the monetary base?
A) First Commercial Bank’s deposits at the Central Bank.
B) Taipei Commercial Bank’s required reserves held at the Central Bank.
C) The New Taiwan dollars in circulation.
D) Central government’s bonds owned by the Central Bank.
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17. Which of the following describes inflation correctly?
A) A one-time jump in the price level.
B) An increase in real wages.
C) A persistent increase in the price level.
D) The fall in the price level from one year to another year.

18. According to the monetarist theory of the business cycle, what leads to change in real GDP?
A) A change in profit expectations.
B) A change in the growth rate in tax revenue.
C) A change in the growth rate of the quantity of money.
D) An anticipated change in aggregate demand.

19. A country has a comparative advantage in producing a good if in comparison to any other country,
it can produce that good
A) at a lower opportunity cost.
B) with a smaller weighted average of inputs.
C) with less labor.
D) at lower average cost.

-

20. Suppose the current account of a country is in balance and the official settlements account equals 0.
A new transaction occurs so that the current account is now in surplus, but the official settlements
account does not change. From this we know that
A) the capital account is now in deficit.

B) the government is running a budget deficit.
C) the balance of trade is now in surplus.
D) the government must make official reserve transactions.
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. Suppose Peter’s utility function is U( X, Y)=2 X2V, the price of good X is $2 and the price of good Y
is $16, Peter’s income is $96. He spends his income and maximizes his utility.

(A) Write down Peter’s budget constraint.

(B) Find Peter’s optimal consumption combination of good X and gbod Y.
(C) What is Peter’s maximum utility. (15%)

- Two competitive firms are each planning to introduce a new production method. Each firm will decid
whether to use method A, method B or method C. They will make their choices at the same time. The

payoffs are shown as following (the first value in parenthesis is firm 1°s payoff; the second value in
parenthesis is firm 2’s payoff):

Firm 2
A B C !
Firm 1 A (-100, -100) (0, 100) (100, 200)
B (100, 0) (-200, -200) {-50, 150)
C (200,100) (150, -50) (-300, -300)

(A) Find the Nash equilibrium.
(B) If both firms use maximin strategies, what outcome will they adopt?
(O) If firm 1 uses 2 maximin strategy, and firm 2 knows, what will firm 2 do? (15%)
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Assume the price level is fixed.
Let C = 80+0.8Yy, I =220, G=200, X =200, M = 100+0.1Y, T = 25 + 0.25Y, R = 150,
Where C is consumption expenditure; I is investment expenditure;

G is government purchasing expenditure; X is export; M is import; T is income tax revenue;
R is government transfer expenditure; Y, is disposal income; Y is real GDP.

Find :
(A) equilibrium real GDP.

(B) If the full employment GDP is 1600, what kind of fiscal policies can the government do to
restore the economy to full employment GDP?
(C) If the autonomous consumption expenditure increase to 130, find equilibrium real GDP.
(15%)
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4. Using the following data and set year 1999 as the base year.
Year 1999 2000 2001 2002
ITEM Price Quantity | Price Quantity | Price Quantity | Price Quantit
A $25 16 $30 18 $31 20 $32 15
B 10 40 9 S0 9.5 60 10 65
C 10 20 13 30 14 25 16 30
Compute (count to the second decimal place in each step): (&
(A) Laspeyres price index for 2000. B
(B) Paasche price index for 2001. &
(C) Fisher’s ideal price index for2002. (15%) "
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Juestion 6 and 9 are 15 points each. Other questions account for 10 points each.

(a) /x%x dx (b)/ 23 dy

1. Evaluate the limits that exist.

(a) lin (2 — ) cos® <’c i ﬂ_).

x sin(2z?)

(b) lim ~—

z—0 tan(x3) -

. Find q, b, so that lim (\/aTz-—x—f-l—ax—-b):O.

T—r—00

. Find the derivative of the following:

() f(z) = (302 + 22 — ) (i + x)2
®) y=y1-vi-2s

- Find the tangent line to the graph given by 2°(z? + y2) = 42 at the point (v2/2,v2/2).
. Find all extrema on the interval [0, 27] for y = 2 — cos z.

. Evaluate the following:

8
) /(w2 +1) @ +9) dz

. Find the arc length of the curve y= In(cosz) for 0 < z < 7/4.

revolving the region about (a) y-axis, (b) z = 5.

. Consider the region bounded by y = 4z — 2% and y = 0. Find the volume of the solid obtéined by

.Ina forest, a predator feeds on prey, and the predator population at any time is a function of the

number of prey in the forest at that time. Suppose that when there are z prey in the forest, and
the predator population is y, then y = —1—5172 + 90. Furthermore, if t weeks have elapsed since the end
of the hunting season, x = 7t + 85. At what rate is the population of the predator growing 8 weeks

after the close of the hunting season?



	經濟學 
	初級會計學 
	微積分 



